A RESOLUTION OF THE TOWNSHIP OF NORTH BRUNSWICK AUTHORIZING AN AGREEMENT WITH COMMERCIAL INTERIORS DIRECT FOR THE TILING OF THE LOCKER ROOM FACILITIES IN THE POLICE DEPARTMENT

WHEREAS, Hurricane Ida impacted New Jersey on Wednesday, September 1, 2021, bringing severe weather conditions including strong winds, and heavy and sustained rainfall in some areas; and

WHEREAS, the storm caused severe damage to municipal facilities, infrastructure, and equipment, including catastrophic water damage to the basement of the Municipal Complex where the Police Department's locker room facilities were located; and

WHEREAS, Commercial Interiors Direct, 1 South Corporate Drive, Suite E, Riverdale, NJ 07457, is an approved vendor under the current Cooperative Pricing Agreement with the Hunterdon County Educational Services Commission HCESC Bid #215 for Commercial Floor Covering and Related Services; and

WHEREAS, Commercial Interiors Direct, under Bid #215, has provided a proposal to furnish and install tiles for the shower facilities in the Police Department at a price of \$81,690.54.

NOW THEREFORE BE IT RESOLVED, that the Township Council of the Township of North Brunswick does hereby authorize the award of a contract with Commercial Interiors Direct for \$81,690.54 to furnish and install tiles for the shower facilities in the Police Department.

BE IT FURTHER RESOLVED, that the Township Council of the Township of North Brunswick does hereby authorize the Mayor to execute and the Township Clerk to witness an agreement with Commercial Interiors Direct in accordance with the previously approved Hunterdon County Educational Services Commission HCESC Bid #215.

Resolution #_____

CERTIFICATION

I, Cavel Gallimore, Chief Financial Officer, hereby certify that \$81,690.54 is available for this purpose in the in the Capital Account No. D-33-56-850-005-001. Contract PRO24075

Cavel Gallimore Chief Financial Officer Steve Bloyed Director of Public Works

Justine Progebin Business Administrator Ronald Gordon, Esq. Township Attorney Approved as to legal form

RECORDED VOTE:

COUNCIL MEMBER	YES	NO	ABSTAIN	NOTES
CHEDID				
MEHTA				
GUADAGNINO				
DAVIS				
SOCIO				
HUTCHINSON				
MAYOR WOMACK				

I hereby certify that the above Resolution was duly adopted by the Township Council of the Township of North Brunswick, County of Middlesex, at its meeting held on December 2, 2024.

Lisa Russo Township Clerk



PROPOSAL

DATE PROPOSAL# 11/15/24 29268

CUSTOMER: TOWNSHIP OF NORTH BRUNSWICK 710 HERMAN RD NORTH BRUNSWICK NJ 08902

PH# 732-247-0922 PHONE

NORTH BRUNSWICK POLICE DEPARTMENT 710 HERMAN RD NORTH BRUNSWICK NJ 08902 CONTACT: STEVE BLOYD PH# 7329951556

CUSTOMER P.O.#

SALESPERSON

HOUSE ACCOUNT NET 30 DAYS

TERMS

#	QTY	UNIT	DESCRIPTION	SELL EACH	SELL EXTEND
			PRICING BASED ON HCESC BID #215		
			*** MATERIAL ONLY- CERAMIC WALL TILE***		
			MENS BATHROOM		
1	1135.20	SQ FT	MFG:AMERICAN OLEAN WALL TILE-COLOR STORY \$5.38-PER-SF-MARK-UP-28% COLOR: MATTE DESIGNER WHITE	6.88	7,810.18
2	132	SQ FT	MFG:AMERICAN OLEAN WALL TILE-COLOR STORY \$7.40-PER-SF-MARK-UP-28% COLOR: GLOSSY NAVY	9.47	1,250.04
3	50	SQ FT	MFG:AMERICAN OLEAN MOSSAIC-COLOR STORY \$4.58-PER-SF-MARK-UP-28% COLOR: STORM GRAY SPECKLED	5.86	293.00
4	12	BAGS	SUPPLY GROUT	75.00	900.00



PROPOSAL

DATE PROPOSAL# 11/15/24 29268

CUSTOMER: TOWNSHIP OF NORTH BRUNSWICK 710 HERMAN RD NORTH BRUNSWICK NJ 08902

PH# 732-247-0922 PHONE

NORTH BRUNSWICK POLICE DEPARTMENT 710 HERMAN RD NORTH BRUNSWICK NJ 08902 CONTACT: STEVE BLOYD PH# 7329951556

CUSTOMER P.O.#

SALESPERSON TERMS

HOUSE ACCOUNT NET 30 DAYS

#	QTY	UNIT	DESCRIPTION	SELL EACH	SELL EXTEND
5	120	LF	METAL REDUCER/TRANSITION STRIPS	7.10	852.00
			SUBTOTAL FOR MENS BATHROOM		11,105.22



PROPOSAL

DATE PROPOSAL# 11/15/24 29268

CUSTOMER: TOWNSHIP OF NORTH BRUNSWICK 710 HERMAN RD NORTH BRUNSWICK NJ 08902

PH# 732-247-0922 PHONE

NORTH BRUNSWICK POLICE DEPARTMENT 710 HERMAN RD NORTH BRUNSWICK NJ 08902 CONTACT: STEVE BLOYD PH# 7329951556

CUSTOMER P.O.#

SALESPERSON TERMS

INSTALL AT:

HOUSE ACCOUNT NET 30 DAYS

#	QTY	UNIT	DESCRIPTION	SELL EACH	SELL EXTEND
			*** MATERIAL ONLY- CERAMIC WALL TILE***		
			WOMENS BATHROOM		
6	1056	SQ FT	MFG:AMERICAN OLEAN WALL TILE-COLOR STORY \$5.38-PER-SF-MARK-UP-28% COLOR: MATTE DESIGNER WHITE	6.88	7,265.28
7	132	SQ FT	MFG:AMERICAN OLEAN WALL TILE-COLOR STORY \$7.40-PER-SF-MARK-UP-28% COLOR: GLOSSY NAVY	9.47	1,250.04
8	50	SQ FT	MFG:AMERICAN OLEAN MOSSAIC-COLOR STORY \$4.58-PER-SF-MARK-UP-28% COLOR: STORM GRAY SPECKLED	5.86	293.00
9	12	BAGS	SUPPLY GROUT	75.00	900.00
10	120	LF	METAL REDUCER/TRANSITION STRIPS	7.10	852.00
			SUBTOTAL FOR WOMENS BATHROOM		10,560.32
11	1		DELIVERY OF MATERIALS	475.00	475.00



PROPOSAL

DATE PROPOSAL# 11/15/24 29268

NORTH BRUNSWICK POLICE DEPARTMENT

NORTH BRUNSWICK NJ 08902

CONTACT: STEVE BLOYD

TERMS

CUSTOMER: TOWNSHIP OF NORTH BRUNSWICK 710 HERMAN RD NORTH BRUNSWICK NJ 08902

PH# 732-247-0922 PHONE

CUSTOMER P.O.#

SALESPERSON

HOUSE ACCOUNT NET 30 DAYS

INSTALL AT:

710 HERMAN RD

PH# 7329951556

DESCRIPTION QTY UNIT SELL EACH SELL EXTEND # THANK YOU FOR ALLOWING US TO QUOTE ON THIS PROJECT. SUBTOTAL 22,140.54 ACCEPTED BY_____ DATE ACCEPTED____ _____ TOTAL 22,140.54



PROPOSAL

DATE PROPOSAL# 11/15/24 29269

CUSTOMER: TOWNSHIP OF NORTH BRUNSWICK 710 HERMAN RD NORTH BRUNSWICK NJ 08902

PH# 732-247-0922 PHONE

710 HERMAN RD NORTH BRUNSWICK NJ 08902 CONTACT: HARRY ROSSMAN X274 PH# 7322470922

TOWNSHIP OF NORTH BRUNSWICK

TERMS

CUSTOMER P.O.#

SALESPERSON

HOUSE ACCOUNT NET 30 DAYS

#	QTY	UNIT	DESCRIPTION	SELL EACH	SELL EXTEND
			PRICING BASED ON HCESC BID #215		
			*** INSTALLATION ONLY- NEW CERAMIC WALL TILE***		
			MENS BATHROOM		
1	1100	SQ FT	INSTALL WALL TILE W/ PATTERN	18.50	20,350.00
2	50	SQ FT	INSTALL FLOOR TILE	15.00	750.00
3	1150	SQ FT	GROUTING TILE	8.50	9,775.00
4	8	HOURS	HOURLY LABOR RATE TO PREP WALL AND INSTALL PRIME N BOND AND STAINLESS STEEL EDGING	200.00	1,600.00
			SUBTOTAL FOR MENS BATHROOM		32,475.00



PROPOSAL

DATE PROPOSAL# 11/15/24 29269

CUSTOMER: TOWNSHIP OF NORTH BRUNSWICK 710 HERMAN RD NORTH BRUNSWICK NJ 08902

PH# 732-247-0922 PHONE

TOWNSHIP OF NORTH BRUNSWICK 710 HERMAN RD NORTH BRUNSWICK NJ 08902 CONTACT: HARRY ROSSMAN X274 PH# 7322470922

CUSTOMER P.O.#

SALESPERSON TERMS

HOUSE ACCOUNT NET 30 DAYS

		*** INSTALLATION ONLY- NEW		
		CERAMIC WALL TILE***		
		WOMENS BATHROOM		
900	SQ FT	INSTALL WALL TILE W/ PATTERN	18.50	16,650.00
50	SQ FT	INSTALL FLOOR TILE	15.00	750.00
950	SQ FT	GROUTING TILE	8.50	8,075.00
8	HOURS	HOURLY LABOR RATE TO PREP WALL AND INSTALL PRIME N BOND AND STAINLESS STEEL EDGING	200.00	1,600.00
		SUBTOTAL FOR WOMENS BATHROOM		27,075.00
		ALL LABOR IS QUOTED BASED ON STRAIGHT TIME INSTALLATION		
THANK	YOU FOR ALLOW	ING US TO QUOTE ON THIS PROJECT.		
			SUBTOI	TAL 59,550.00
ACCEPT	TED BY			
DATE A	ACCEPTED		፹∩፹፮ ፣	======================================
	50 950 8 THANK	50 SQ FT 950 SQ FT 8 HOURS	900 SQ FT INSTALL WALL TILE W/ PATTERN 50 SQ FT INSTALL FLOOR TILE 950 SQ FT GROUTING TILE 8 HOURS HOURLY LABOR RATE TO PREP WALL AND INSTALL PRIME N BOND AND STAINLESS STEEL EDGING SUBTOTAL FOR WOMENS BATHROOM ALL LABOR IS QUOTED BASED ON STRAIGHT TIME INSTALLATION THANK YOU FOR ALLOWING US TO QUOTE ON THIS PROJECT. ACCEPTED BY	900 SQ FT INSTALL WALL TILE W/ PATTERN 18.50 50 SQ FT INSTALL FLOOR TILE 15.00 950 SQ FT GROUTING TILE 8.50 8 HOURS HOURLY LABOR RATE TO PREP 200.00 WALL AND INSTALL PRIME N BOND AND STAINLESS STEEL 200.00 BOND AND STAINLESS STEEL EDGING SUBTOTAL FOR WOMENS BATHROOM ALL LABOR IS QUOTED BASED ON STRAIGHT TIME INSTALLATION SUBTOT THANK YOU FOR ALLOWING US TO QUOTE ON THIS PROJECT. SUBTOT